

Własności działań na liczbach całkowitych

Oblicz

- w pierwszym polu zapisz obliczenia

- w drugim polu zapisz końcowy wynik

$$(-4) - 5 \cdot (-3) = \quad \quad \quad =$$

$$(-32) : 8 - (-2) = \quad \quad \quad =$$

$$(-6) \cdot 3 - 5 = \quad \quad \quad =$$

$$(-9) + (-6) : (-3) = \quad \quad \quad =$$

$$(-6) - 2 \cdot 3 : (-1) = \quad \quad \quad =$$

$$(-30) : (-6) - (-4) \cdot (-3) = \quad \quad \quad =$$

$$(-9) : 3 \cdot (-5) - 7 = \quad \quad \quad =$$

$$(-10) : (-5) - 6 \cdot 3 = \quad \quad \quad =$$

$$(-10) : 5 - (-4) + 3 \cdot (-1) = \quad \quad \quad =$$

$$(-3) - (-8) + 1 \cdot (-8) - 3 = \quad \quad \quad =$$